@ https://pkg.go.dev/github.com/gogf/gf/v2/container/gtree

NewBTr ee

* NewBTr eem)BTr eesaf et r eef al se
® nBpanic

NewBTree(mint, conparator func(vl, v2 interface{}) int, safe ...
bool ) *BTree

func Exanpl eNewBTree() {
bTree := gtree. NewBTree(3, gutil. ConparatorString)
for i :=0; i <6; i++ {
bTree. Set ("key"+gconv. String(i), "val"+gconv. String

(i)

}

fnt.Println(bTree. Map())

/1 Qutput:

/1 map[ keyO: val 0 keyl:val 1 key2:val 2 key3:val 3 key4:val 4
key5: val 5]
}

NewBTr eeFr om

®* NewBTr eeFromm()map[i nterface{}]interface{}dat aBTreesaf etreefal se
® nBpanic

NewBTr eeFrom(m i nt, conparator func(vl, v2 interface{}) int, data map
[interface{}]interface{}, safe ...Dbool) *BTree

func Exanpl eNewBTreeFron() {

bTree : = gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++ {
bTree. Set ("key"+gconv. String(i), "val"+gconv. String
(1))
}

ot her BTr ee
bTree. Map())
fnt.Println(otherBTree. Map())

;= gtree. NewBTreeFron(3, gutil.ConparatorString,

/1 Qutput:
/1 map[ keyO: val 0 keyl:val 1 key2:val 2 key3:val 3 key4:val 4
key5: val 5]
}
d one

® clonetreeBTree

Content Menu
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https://pkg.go.dev/github.com/gogf/gf/v2/container/gtree

Clone() *BTree

func Exanpl eBTree_C one() {
b := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
b. Set ("key"+gconv. String(i), "val"+gconv.String(i))
}

tree := b.C one()

fmt.Println(tree. Map())
frmt.PrintIn(tree.Size())

/1 Qutput:

/1 map[ keyO: val 0 keyl:val 1 key2:val 2 key3:val 3 key4:val 4
key5: val 5]

Il 6
}

Set

® Settreekey/val ue
L]

Set (key interface{}, value interface{})

func Exanpl eBTree_Set () {
tree := gtree. NewBTree(3, gutil. ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String

(i)

}

fmt.Println(tree. Map())

fm.Println(tree. Size())

/1 Qutput:

/'l map[ keyO: val 0 keyl:val 1 key2:val 2 key3:val 3 key4:val 4
key5: val 5]

Il 6
}

Set s

® Setstreekey/val ue
L]

Sets(data map[interface{}]interface{})



func Exanpl eBTree_Sets() {
tree := gtree. NewBTree(3, gutil.ConparatorString)

tree. Sets(map[interface{}]interface{}{
"keyl": "val 1",
"key2": "val 2",

}

fnt.Println(tree. Map())
fm.Println(tree.Size())

/1 Qutput:
/1 map[ keyl:val 1 key2:val 2]
Il 2

Get

® Cetkeyval uekeyNi |
L]

CGet (key interface{}) (value interface{})

func Exanpl eBTree_Get () {
tree := gtree. NewBTree(3, gutil. ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String
(i)
}

fmt.Println(tree. Get("keyl"))
fm.Println(tree. Get("keyl10"))

/1 Qutput:

/1 vall
/1 <nil>

Get O Set

® Cet O Set keyval uekeykeyval ue

Get Or Set (key interface{}, value interface{}) interface{}



func Exanpl eBTree_Get OrSet () {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String
(i)
}

fm.Printin(tree. GetOrSet ("keyl", "newal 1"))
frmt.PrintIn(tree. GetOr Set("key6", "val 6"))

/1 Qutput:
/1 vall
/1 val 6

Get Or Set Func

® Cet Or Set Funckeyval uekeykeyfunc f

CGet Or Set Func(key interface{}, f func() interface{}) interface{}

func Exanpl eBTree_Get Or Set Func() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String

(1))
}
fm.Println(tree. Get O Set Func("keyl1", func() interface{} {
return "newval 1"
)
frmt.Println(tree. Get Or Set Func("key6", func() interface{} {
return "val 6"
)
/1 Qutput:
/1 vall
/1 val 6
}

Get O Set FuncLock

® Cet Or Set Funckeyval uekeykeyfunc f
® Cet Or Set FuncLockGet Or Set Funcf

Get Or Set FuncLock(key interface{}, f func() interface{}) interface{}



func Exanpl eBTree_Get O Set FuncLock() {
tree := gtree. NewBTree(3, gutil.ConparatorString)

interface{}

interface{}

for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String
(i)
}
fm.Println(tree. Get O Set FuncLock("keyl1", func()
{ return "newval 1"
1)
frt.Println(tree. Get Or Set FuncLock("key6", func()
{
return "val 6"
1)
// Cutput:
/1l vall
Il val 6
}

Get Var

® Cet Var key*gvar. Var
® gvar. Var
L]

Get Var (key interface{}) *gvar.Var

func Exanpl eBTree_Get Var () {
tree := gtree. NewBTree(3, gutil.ConparatorString)

for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String

(1))

}

frmt.PrintIn(tree. GetVar("keyl").String())

/1 Qutput:

/1 vall
}

Get Var O Set

® Cet Var Or Set Get Or Set *gvar . Var
® gvar. Var

Get Var Or Set (key interface{}, value interface{}) *gvar. Var



func Exanpl eBTree_Get VarOrSet () {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String
(i)
}

fm.Println(tree. GetVar O Set ("keyl", "newval 1"))
frmt.Println(tree. GetVarOr Set ("key6", "val 6"))

/1 Qutput:
/1 vall
/1 val 6

Get Var Or Set Func

® Get Var Or Set FuncGet Or Set Func*gvar . Var
® gvar. Var
L]

Get Var Or Set Func(key interface{}, f func() interface{}) *gvar. Var

func Exanpl eBTree_Get Var O Set Func() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String

(1))
}
fm.Println(tree. GetVar O Set Func("key1", func() interface{} {
return "newval 1"
)
fm.Println(tree. GetVar O Set Func("key6", func() interface{} {
return "val 6"
)
/1 Qutput:
/1l vall
/1 val 6
}

Get Var O Set FuncLock

® Get Var Or Set FuncLockGet Or Set FuncLock* gvar . Var
® gvar. Var

Get Var Or Set FuncLock(key interface{}, f func() interface{}) *gvar. Var



func Exanpl eBTree_Get Var O Set FuncLock() {
tree := gtree. NewBTree(3, gutil.ConparatorString)

interface

interface

for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String
(i)
}
fm.Println(tree. GetVar O Set FuncLock("keyl1", func()
{} {
return "newval 1"
1)
frt.Println(tree. GetVarOr Set FuncLock("key6", func()
{3 {
return "val 6"
1)
// Cutput:
/1l vall
Il val 6
}

Set | f Not Exi st

® keySet | f Not Exi st mapkey/ val uet r uekeyf al seval ue
L]

Set | f Not Exi st (key interface{}, value interface{}) bool

func Exanpl eBTree_Set|f Not Exi st () {
tree := gtree. NewBTree(3, gutil.ConparatorString)

for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String

(i)

}

frmt.PrintIn(tree. SetlfNotExist("keyl", "newval1"))

fm.Println(tree. SetlfNot Exi st ("key6", "val 6"))

/1 Qutput:

/1l fal se

/1l true
}

Set | f Not Exi st Func

® keySet | f Not Exi st Funcftruekeyfal seval ue

Set | f Not Exi st Func(key interface{}, f func() interface{}) bool



func Exanpl eBTree_Set | f Not Exi st Func() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String

(i)
}
fm.Println(tree. SetlfNot Exi st Func("keyl", func() interface
{} {
return "newval 1"
1)
frt.PrintIn(tree. SetlfNotExi st Func("key6", func() interface
{3 {
return "val 6"
1)
// Cutput:
/1l fal se
Il true
}

Set | f Not Exi st FuncLock

® keySet | f Not Exi st Funcfunc ctruekeyfal seval ue
® Set | fNot Exi st FuncLockSet | f Not Exi st Funcnut ex. Lockf

Set | f Not Exi st FuncLock(key interface{}, f func() interface{}) bool

func Exanpl eBTree_Set | f Not Exi st FuncLock() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String
(i)
}

fm.Println(tree. SetlfNot Exi st FuncLock("keyl", func()
interface{} {
return "newval 1"
1)
frt.PrintIn(tree. SetlfNotExi st FuncLock("key6", func()
interface{} {
return "val 6"

)
/1 Qutput:
/1 false
Il true
}
Cont ai ns

® Cont ai nskeyt reekeytruefal se
L]

Cont ai ns(key interface{}) bool



func Exanpl eBTree_Contains() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String

(1))
}
fm.Println(tree. Contai ns("keyl"))
frmt.Println(tree. Contains("key6"))
/1 Qutput:
Il true
/1l false

}

Renove

® keytreeval ueval ue
L]

Renove(key interface{}) (value interface{})

func Exanpl eBTree_Renove() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String
(i)
}
fm.Println(tree. Remove("keyl"))

fm.Println(tree. Renove("key6"))
fm.Println(tree. Map())

/1 Qutput:
/1 vall

Il <nil>
/1 map[ keyO: val 0 key2:val 2 key3:val 3 key4: val 4 key5: val 5]

Renoves

® Renpveskeytreeval ue
L]

Renoves(keys []interface{})



func Exanpl eBTree_Renoves() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String

(i)

}

renoveKeys := make([]interface{}, 2)

renoveKeys = append(renoveKeys, "keyl")

renoveKeys = append(renoveKeys, "key6")

tree. Renoves(renoveKeys)

fm.Println(tree. Map())

/1 Qutput:

/1 map[ keyO: val 0 key2:val 2 key3:val 3 key4: val 4 key5: val 5]
}

| SEnpty

® | sEnptytreetreetruefal se
L]

I sEmpty() bool

func Exanpl eBTree_|l sEnpty() {
tree := gtree. NewBTree(3, gutil.ConparatorString)

fnt.Printin(tree. | sEnpty())

for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String
(i)
}
fm.Printin(tree. 1 seEnpty())
/1 Qutput:
Il true
/1 fal se
}
Sl ze

® Sizetree
L]

Size() int



func Exanpl eBTree_Size() {
tree := gtree. NewBTree(3, gutil.ConparatorString)

frmt.PrintIn(tree.Size())

for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String

(1))

}

frmt.PrintIn(tree.Size())

/1 Qutput:

/10

Il 6
}

Keys

® Keyskey

Keys() []interface{}

func Exanpl eBTree_Keys() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=6; i >0; i--{
tree. Set ("key"+gconv. String(i), "val"+gconv.String

(i)
}
fm.Println(tree. Keys())
/1 Qutput:
/'l [keyl key2 key3 key4 key5 key6]
}
Val ues

® Val ueskeyval ue
L]

Val ues() []interface{}



func Exanpl eBTree_Val ues() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=6; i >0; i--{
tree. Set ("key"+gconv. String(i), "val"+gconv.String

(i)

}

fm.Println(tree. Val ues())

/1 Qutput:

/1 [vall val 2 val 3 val 4 val 5 val 6]
}

Map

* Mapnapkey/ val ue
L]

Map() map[interface{}]interface{}

func Exanpl eBTree_Map() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String

(i)

}

frmt.Println(tree. Map())

/1 Qutput:

/1 map[ keyO: val 0 keyl:val 1 key2:val 2 key3:val 3 key4:val 4
key5: val 5]
}

MapSt r Any

® MapStrAnymap[string]interface{}key/val ue
L]

MapStrAny() nap[string]interface{}

func Exanpl eBTree_MapStrAny() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set (1000+i, "val "+gconv. String(i))
}

frmt.Println(tree. MapStrAny())

/1 Qutput:

/1 map[ 1000: val 0 1001:val 1 1002:val 2 1003: val 3 1004: val 4
1005: val 5]
}



d ear

® Cleartree
L]

Clear ()

func Exanpl eBTree_CQ ear () {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set (1000+i, "val"+gconv. String(i))

}
fm.Println(tree. Size())

tree.dear()
fm.Printlin(tree. Size())

/1 Qutput:
/Il 6
/10
}
Repl ace

® Replacemap[interface{}]interface{}datatreekey/val ue
L]

Repl ace(data map[interface{}]interface{})

func Exanpl eBTree_Repl ace() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String
(i)
}

fm.Println(tree. Map())

data := map[interface{}]interface{}{
"newKey0": "newval 0",
"newkeyl": "newval 1",
"newKey2": "newval 2",

}
tree. Repl ace(dat a)
fmt.Println(tree. Map())

/1 Qutput:

/1 map[ keyO: val 0 keyl:val 1 key2:val 2 key3:val 3 key4:val 4
key5: val 5]

/1 map[ newKeyO: newWal 0 newKeyl: newal 1 newKey2: newval 2]
}

Hei ght

® Heighttree



Hei ght () int

func Exanpl eBTree_Hei ght () {
tree := gtree. NewBTree(3, gutil.Conparatorlnt)
for i :=0; i < 100; i++ {
tree.Set(i, i)

}
fm.Println(tree. Height())

// Cutput:
/16

Left

® Left *BTreeEntrynodetreenil
L]

Left() *BTreeEntry

func Exanpl eBTree_Left () {
tree := gtree. NewBTree(3, gutil.Conparatorlnt)
for i :=1; i < 100; i++ {
tree.Set(i, i)

}
fm.Printin(tree.Left().Key, tree.Left(). Value)

enptyTree : = gtree. NewBTree(3, gutil.Conparatorlnt)
fmt.Println(enptyTree. Left())

/1 Qutput:

/111
Il <nil>

Ri ght

® Left *BTreeEntrynodetreenil
L]

Ri ght () *BTreeEntry



func Exanpl eBTree_Ri ght () {
tree := gtree. NewBTree(3, gutil.Conparatorlnt)
for i :=1; i < 100; i++ {
tree. Set (i, i)

}
frmt.PrintIn(tree. Right().Key, tree.Ri ght(). Value)

enptyTree : = gtree. NewBTree(3, gutil. Conparatorlnt)
fnt.Println(emptyTree. Left())

/1 Qutput:
/1 99 99
/Il <nil>

String

® Stringtreenode
L]

String() string

func Exanpl eBTree_String() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String

(i)
}
fmt.PrintIn(tree. String())
/1 Qutput
/1 keyO
/1 keyl
11 key2
/1 key3
11 key4
I key5

}

Sear ch

® Searchkeyt reekeyfoundtruef al se
L]

Search(key interface{}) (value interface{}, found bool)



func Exanpl eBTree_Search() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv.String

(1))
}
fm.Println(tree. Search("key0"))
frmt.Println(tree. Search("key6"))
/1 Qutput
/1 val 0 true
/1 <nil> fal se

}

Print

® Printtree
L]

Print()

func Exanpl eBTree_Print() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String
(1))
}

tree.Print()

/1 Qutput
/1 keyO

/1 keyl

11 key2
/1 key3

11 key4
/1 key5

| t er at or

® |terator IteratorAsc
L]

Iterator(f func(key, value interface{}) bool)



func Exanpl eBTree_lterator() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i < 10; i++ {
tree. Set (i, 10-i)
}

var total Key, total Value int
tree.lterator(func(key, value interface{}) bool {
total Key += key. (int)
total Val ue += val ue. (int)

return total Value < 20

1}

fmt.Println("total Key:", totalKey)
fm.Println("total Value:", total Value)

/1 Qutput:
/1 total Key: 3
/1 total Val ue: 27

|t erat or From

® |teratorFromlteratorAscFrom
L]

IteratorFrom(key interface{}, match bool, f func(key, value interface

{}) bool)

func Exanpl eBTree_lteratorFron() {
m: = make(map[interface{}]interface{})
for i :=1; i <=5; i++{
nfi] =i * 10
}
tree := gtree. NewBTreeFrom(3, gutil.Conmparatorint, m

tree.lteratorFron(1l, true, func(key, value interface{}) bool

{
fm.Println("key:", key, ", value:", value)
return true
3]
/1 Qutput:
/1 key: 1, value: 10
/Il key: 2, value: 20
/1 key: 3, value: 30
Il key: 4 , value: 40
/1 key: 5, value: 50
}

| t er at or Asc

® |teratorAscftreeftruefal se
L]

IteratorAsc(f func(key, value interface{}) bool)



func Exanpl eBTree_lteratorAsc() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i < 10; i++ {
tree. Set (i, 10-i)
}

tree.lteratorAsc(func(key, value interface{}) bool {
fm.Println("key:", key, ", value:", value)
return true

3]

/1 Qut put

/Il key: 0, value: 10
/'l key: 1, value: 9
/Il key: 2, value: 8
Il key: 3, value: 7
Il key: 4 , value: 6
/1 key: 5, value: 5
/1 key: 6 , value: 4
/1 key: 7 , value: 3
/1 key: 8 , value: 2
/1 key: 9, value: 1

| t er at or AscFr om

® |teratorAscFronftree key keymat cht ruekeyftruefal se
L]

IteratorAscFrom(key interface{}, match bool, f func(key, value
interface{}) bool)

func Exanpl eBTree_lterator AscFrom Nornal () {
m : = make(map[interface{}]interface{})
for i :=1; i <=5; i++ {
nfi] =i * 10
}
tree := gtree. NewBTreeFrom(3, gutil.Conparatorint, m

tree.lteratorAscFronm(1, true, func(key, value interface{})

bool {

fmt.Println("key:", key, ", value:", value)
return true

}

/1 Qutput:

/1 key: 1, value: 10

Il key: 2, value: 20

/'l key: 3, value: 30

/Il key: 4 , value: 40

/1 key: 5, value: 50



func Exanpl eBTree_lterator AscFrom NoExi st Key() {
m : = make(map[interface{}]interface{})
for i :=1; i <=5; i++ {
nfi] =i * 10
}

tree := gtree. NewBTreeFrom(3, gutil.Conparatorint, m

tree.lteratorAscFronm(0, true, func(key, value interface{})

bool {
fmt.Println("key:", key, ", value:",
return true
}
/1 Qutput:
}

val ue)

func Exanpl eBTree_lterat or AscFrom NoExi st KeyAndMat chFal se() {

m: = make(map[interface{}]interface{})
for i :=1; i <=5; i++{

nfi] =i * 10
}

tree := gtree. NewBTreeFrom(3, gutil.Conparatorint, m

tree.lterator AscFrom(0, false, func(key, value interface{})

bool {
fm.Println("key:", key, ", value:",
return true
3]
/1 Qutput:
/Il key: 1, value: 10
/Il key: 2, value: 20
/Il key: 3, value: 30
/Il key: 4 , value: 40
/1 key: 5, value: 50
}

| t er at or Desc

® |teratorDescftreeftruefal se
L]

IteratorDesc(f func(key, value interface{}) bool)

val ue)



func Exanpl eBTree_lteratorDesc() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i < 10; i++ {
tree. Set (i, 10-i)
}

tree.lteratorDesc(func(key, value interface{}) bool {
fm.Println("key:", key, ", value:", value)
return true

3]

/1 Qut put

/Il key: 9, value: 1
/'l key: 8 , value: 2
/Il key: 7 , value: 3
/1 key: 6 , value: 4
/'l key: 5, value: 5
/Il key: 4 , value: 6
/'l key: 3, value: 7
/1 key: 2, value: 8
/1 key: 1, value: 9
/'l key: 0, value: 10

| terat or DescFrom

® |teratorDescFronftree key keymat cht ruekeyftruefal se
L]

I teratorDescFrom(key interface{}, match bool, f func(key, value
interface{}) bool)

func Exanpl eBTree_lteratorDescFron() {
m : = make(map[interface{}]interface{})
for i :=1; i <=5; i++ {
nfi] =i * 10
}
tree := gtree. NewBTreeFrom(3, gutil.Conparatorint, m

tree.lteratorDescFron(5, true, func(key, value interface{})

bool {
fmt.Println("key:", key, ", value:", value)
return true
}
/1 Qutput:
/1 key: 5, value: 50
Il key: 4 , value: 40
/'l key: 3, value: 30
/1 key: 2, value: 20
/1 key: 1, value: 10
}

Mar shal Json

® Marshal JSON son. Mar shal



Mar shal JSON() ([]byte, error)

func Exanpl eBTree_Mar shal JSON() {
tree := gtree. NewBTree(3, gutil.ConparatorString)
for i :=0; i <6; i++{
tree. Set ("key"+gconv. String(i), "val"+gconv. String

(i)
}
bytes, err := json. Marshal (tree)
if err == nil {
fm.Println(gconv. String(bytes))
}
/1 Qutput:

/Il {"key0Q":"val 0", "keyl":"val 1", "key2": "val 2", "key3":"val 3","
key4":"val 4", "key5": "val 5"}
}
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